Adigao até 100 (horizontal)

59+78 =

49 +93 =

11+1=

45+79 =

37+ 46 =

48+7 =

28 + 60 =

10+ 30 =

73+99 =

Encontro: Data: Pontuagao:

19 +94 =

70+ 32 =

70+ 57 =

84 + 56 =

51+79 =

88 +27 =

55+ 24 =

56+63 =

63 +27 =

11 +90 =
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Adigao até 100 (horizontal)

65+ 36 =101

59+ 78 = 137

49 +93 = 142

1H+1=12

45+79 =124

37+46 = 83

48 +7 =55

28 + 60 = 88

10+ 30 =40

73+99 =172

Encontro: Data:

19+94 =113

70 +32 =102

70+ 57 =127

84 + 56 = 140

51+79 =130

88 +27 =115

55+24="9

56 +63=119

63 +27 =90

11 +90 =101
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Pontuacao:



https://www.snowmath.com

